## Surface area of the graph of a function

Let  $R \subset \mathbb{R}^2$  be a "domain" and let  $u \colon R \to \mathbb{R}$  be a  $C^1$  function. Then the area of the graph of u is

Surface area of the graph of a function  
Let 
$$k \in \mathbb{R}^{2}$$
 be a "domain" and let  $u: R \to \mathbb{R}$  be a  $C^{1}$  function. Then the  
area of the graph of u is  
 $A(u) = \iint_{\mathbb{R}} \sqrt{1 + u_{2}^{2} + u_{3}^{2}} dx dy = \iint_{\mathbb{R}} \sqrt{1 + u_{2}^{2} + \frac{1}{r^{2}}u_{3}^{2}} r d\theta dr$   
Demany. R is an queue subsect of the plane,  $\mathbb{R}^{n}$   
 $\mathbb{R}$  - boundary of  $R$  is "secondule" explore  
 $\mathbb{R}^{n}$  boundary of  $\mathbb{R}^{n}$  boundary o

## The Plateau problem

- Given a function  $g: \partial R \to \mathbb{R}$  find a function  $u: R \to \mathbb{R}$  such that u(p) = g(p) at all points  $p \in \partial R \longrightarrow \lim_{p \to p} u(p) = \mathfrak{g}(p)$  for all  $p \in \mathcal{R}$ .
  - $A[u] \le A[v]$  for every  $C^1$  function  $v: R \to \mathbb{R}$  with v = g on  $\partial R$

 $C^1$ 

The Euler-Lagrange equation.  $A[u] = \iint L(x, y, u(x, y), u_{x}(x, y), u_{y}(x, y)) dx dy$ where L:  $\mathbb{R} \times \mathbb{R}^2 \longrightarrow \mathbb{R}$  is given by  $(x,y) \mapsto (v_1,v_2)$  $L(x,y,y,v,v,v) = \sqrt{1+v_1^2+v_1^2}$ Or in polar courdinates  $A[u] = \iint_{R} L(r, \theta, u, v_r, v_{\theta}) dr d\theta$ 

where 
$$\lfloor (r, \vartheta, h, v_r, v_{\vartheta}) = \sqrt{1 + v_r^2 + \frac{1}{r_1} v_{\vartheta}^2} \cdot r$$

Suppose L: 
$$\mathbb{R} \times \mathbb{R} \times \mathbb{R}^2 \to \mathbb{R}$$
 is  $\mathbb{C}^2$  and let  
 $n: \mathbb{R} \to \mathbb{R}$  be a  $\mathbb{C}$  minimizer of  
 $\mathbb{I}[u] = \iint \mathbb{L}(x, y, u, \frac{\partial u}{\partial x}, \frac{\partial n}{\partial y}) \, dx \, dy$ .  
 $\mathbb{R}$   
i.e. for every  $\mathbb{C}^1$  or:  $\mathbb{R} \to \mathbb{R}$  with  $u = v$  on  $\partial \mathbb{R}$   
one has  $\mathbb{I}[v] \ge \mathbb{I}[u]$ .

$$\frac{\text{Therefore}}{\frac{\partial}{\partial x}\left(\frac{\partial L}{\partial v_{x}}\right) + \frac{\partial}{\partial y}\left(\frac{\partial L}{\partial v_{y}}\right) = \frac{\partial L}{\partial u}, \quad \text{and} \quad u(p) = g(p) \quad \text{for all } p \in \partial \mathbb{R}$$

$$\frac{\partial}{\partial x}\left(\frac{\partial L}{\partial v_{x}}(x, y, u(x, y), u_{x}(x, y)), u_{y}(x, y)\right) + \frac{\partial}{\partial y}\left(\frac{\partial L}{\partial v_{y}}(x, y, u(x, y), u_{x}(x, y)), u_{y}(x, y)\right)$$

$$= \frac{\partial L}{\partial u}(x, y, u(x, y), u_x(x, y), u_y(x, y))$$

$$\frac{F \times \operatorname{comp} \mathcal{L}}{F_{0r}} \quad L = L(x, y, u, v_{x}, v_{y}) = \sqrt{1 + v_{x}^{2} + u_{y}^{2}}$$

$$\frac{F_{0r}}{v_{x}} \quad g_{x} \quad \frac{\partial L}{\partial u} = 0$$

$$\frac{\partial L}{\partial u_{x}} = \frac{n_{x}}{\sqrt{1 + v_{x}^{2} + v_{y}^{2}}} \quad \frac{\partial L}{\partial v_{y}} - \frac{n_{y}}{\sqrt{1 + v_{x}^{2} + v_{y}^{2}}}$$
The E-L equation for Minimal Surfaces is
$$\frac{\partial}{\partial x} \left( \frac{u_{x}}{\sqrt{1 + u_{x}^{2} + u_{y}^{2}}} \right) + \frac{\partial}{\partial y} \left( \frac{u_{y}}{\sqrt{1 + u_{x}^{2} + u_{y}^{2}}} \right) = 0. \qquad u(x, y) = F(\sqrt{x^{2} + y^{2}})$$

$$= F(r)$$
where  $u_{x} = \frac{\partial u}{\partial x} \quad u_{y} = \frac{\partial u}{\partial y}$ 

$$If \int |u_{x}|_{1}|u_{y}| \ll 1 \quad \text{then} \quad \sqrt{1 + u_{x}^{2} + u_{y}^{2}} \approx 1 \quad \text{then the}$$
Minimal Surface Equation is approximately

$$\frac{\partial}{\partial x}(u_x) + \frac{\partial}{\partial y}(u_y) = 0$$
, i.e.  $u_{xx} + u_{yy} = 0$  Laplace Equation

$$\Rightarrow \iint_{\mathcal{R}} \left[ \frac{\partial L}{\partial u}(x, y, u(x, y), u_{x}(x, y), u_{y}(x, y)) \varphi(x, y) + \frac{\partial L}{\partial u_{x}}(-) \frac{\partial \varphi}{\partial x}(x, y) + \frac{\partial L}{\partial v_{y}}(-) \frac{\partial \varphi}{\partial y}(x, y) \right] dx dy \qquad \bigstar$$

Now integrate by parts:

$$\begin{split} \iint_{\mathbb{R}} & \frac{\lambda l_{1}}{\delta u} \left( - \frac{\lambda u}{\lambda v} + \frac{\lambda l_{1}}{\delta u_{2}} \left( - \frac{\lambda u}{\delta y} + \frac{\lambda l_{1}}{\delta y} \left( - \frac{\lambda l_{2}}{\delta y} + \frac{\lambda u}{\delta y} + \frac{\lambda u}{\delta y} \left( - \frac{\lambda l_{2}}{\delta u} + \frac{\lambda u}{\delta y} + \frac{\lambda u}{$$

$$\begin{array}{c} \left( \begin{array}{c} \left( x,y \right) & \left( \frac{1}{r} \left( x,x \right) + i \left( y,y \right) \right) \leq i \\ \\ uhar \\ q(x,y) = r^{1} \left( x - \bar{z} \right)^{1} - \left( y - \bar{y} \right)^{1} \\ T_{5} \quad q \quad \left( \frac{2}{r} \right)^{2} \quad T_{4} \quad \left( x - \bar{z} \right)^{2} - \left( (y - \bar{y}) \right)^{2} + 1 \quad \text{Hen } q \quad r_{5} \quad \mathbb{C}^{\infty} \\ \\ \quad \frac{3u}{2w} = -3 \left( x - \bar{x} \right) q(x,y) \xrightarrow{1} \rightarrow 6 \quad \text{on } \left( x,y \right) \rightarrow \partial \partial \left( x,y \right) \\ \frac{3u}{2w} = 2\left( - 2 \left( x - \bar{x} \right) \right) \left( -2 \left( y - \bar{y} \right) \right) q(x,y) \rightarrow 0 \quad \text{on } \left( x,y \right) \Rightarrow \partial \partial \partial \left( \bar{x}, \bar{y} \right) \\ \end{array}$$

$$\left[ \begin{array}{c} \text{offermine} \quad dv \ isc : \qquad q(x,y) = \begin{cases} 0 \quad \left( x - \bar{z} \right)^{2} + \left( y - \bar{y} \right)^{2} \leq r^{1} \\ \hline \\ \text{effermine} \quad q \ is C^{\infty} \end{array} \right] \\ \end{array}$$

$$\begin{array}{c} \text{Berick } \quad h \quad E: \quad \text{Acsume } \quad E(x,y) \Rightarrow 0 \quad \text{for all } \left( x,y \right) \in \mathcal{B}_{r}(\bar{x},\bar{y}) \\ \hline \\ \text{Berick } \quad h \quad E: \quad \text{Acsume } \quad E(x,y) \Rightarrow 0 \\ \end{array}$$

$$\begin{array}{c} \text{Hen } q \ is C^{\infty} \end{array}$$

$$\begin{array}{c} \text{uback } \text{conductes} \quad \prod_{k=1}^{n} \left( E(x,y) \right) \varphi(x,y) \quad dx \quad dy \Rightarrow 0 \\ \hline \\ \text{R} \\ \end{array}$$

$$\begin{array}{c} \text{Uback } \text{conductes} \quad \prod_{k=1}^{n} \left( E(x,y) \right) \varphi(x,y) \quad dx \quad dy \Rightarrow 0 \\ \end{array}$$

$$\begin{array}{c} \text{Hend} \text{Hend} \\ \text{Subset} \quad \text{on } \exists \mathcal{R} \\ \end{array}$$

$$\begin{array}{c} \text{Therefore } \quad E(\bar{x},\bar{y}) = 0 \quad \text{offer all} \\ \end{array}$$

$$\begin{array}{c} \text{Hend} \\ \text{Interfore } \quad E(\bar{x},\bar{y}) = 0 \quad \text{offer all} \\ \end{array}$$

$$\begin{array}{c} \text{Hend} \\ \text{Interfore } \quad E(\bar{x},\bar{y}) = -c_{1}(x) \quad \text{in Polex (coordinates).} \end{array}$$

$$\begin{array}{c} \text{Minimal Surfixe } \quad F(x,y,y) \quad dx \quad dy \\ \text{s } = 0 \quad \int \left( 1 \left( x, \psi, u, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left( x, \psi, u_{k} \right) \right) \quad dx \quad dy \\ \text{s } \int \left( 1 \left($$

where  $L(r, \Theta, u, yr, u_{\theta}) = \sqrt{1 + u_r^2 + \frac{1}{r^2} u_{\theta}^2} \cdot r$ 

$$\frac{\Im r}{\Im}\left(\begin{array}{c} \sqrt{1-r} \\ \frac{1}{2} \end{array}\right) + \frac{\Im g}{\Im}\left(\frac{1}{1} \\ \frac{1}{2} \\ \frac{1}$$

Suppose  $u(r, \theta)$  does not depend on  $\theta$ :  $u(r, \theta) = u(r)$  $u_{\theta} = 0$ 

